
PRODUCT: 401500 REAR LOWERING SHOCK EXTENDERS 
2014 GM 1500 PICKUP 2WD & 4WD

PARTS LIST QTY

2
2
4

1/2-13 JAM NUT 4
1/2" FLAT WASHER 4
1/2" SPLIT LOCK WASHER 4
7/16-14X1 1/4 HEX CAP SCREW 2
7/16-14 NYLOCK NUT 2
7/16" FLAT WASHER 4

PRIOR TO INSTALLATION:

1.  Factory service manual is recommended to have on hand.
2.  Secure and properly block vehicle prior to beginning installation
3.  Always wear safety glasses when using power tools or working under the vehicle
4.  Modifications to any part will void the warranty associated with that product.

After removing parts from vehicle, save hardware for reinstallation

IT IS RECOMMENDED THAT YOU HAVE YOUR VEHICLE’S ALIGNMENT CHECKED WHENEVER INSTALLING 
NEW SUSPENSION.  IT IS ALSO RECOMMENDED THAT YOU ADJUST YOUR HEADLIGHTS WHENEVER 
YOUR VEHICLE’S RIDE HEIGHT IS ALTERED.

SHOCK EXTENDER
GUIDE PLATE
1/2-13X1 HEX CAP SCREW

http://www.carid.com/suspension-systems.html
http://www.carid.com/maxtrac-suspension/


INSTALLATION INSTRUCTIONS - 401500 
 

  

1. SUPPORT AXLE WITH A ADJUSTABLE JACK & UNBOLT BOTH SHOCKS AT THE AXLE. 

 
2. SLIDE MAXTRAC EXTENDER OVER ORIGINAL MOUNT ON THE AXLE & INSTALL USING PROVIDED BOLTS 

 
3. INSTALL SQUARE PLATE INSIDE THE ORIGINAL EXTENDER & RUN THE 7/16” BOLT THROUGH & TIGHTEN 

ALLTHE BOLTS. 

 
4. RE-INSTALL THE SHOCK INTO THE MAXTRAC EXTENDER USING THE ORIGINAL HARDWARE & TIGHTEN. 

 

 

 


	401500
	Sheet1

	401500

